Weekly Planner:     All science week of 10.22.18                                  [image: Home]
Objectives for the week:     Bio.3.2.2 Predict offspring ratios based on a variety of inheritance patterns (including dominance, co-dominance, incomplete dominance, multiple alleles, and sex-linked traits). Bio.3.2.3 Explain how the environment can influence the expression of genetic traits.
Chm.1.3.1 Classify the components of a periodic table (period, group, metal, metalloid, nonmetal, transition). 
	Day
	Honors Biology – How does genetic make up determine traits?
	Honors Chemistry -What is the language of chemistry and how do we use it?

	Mon  10/22
	-Dragon wrap-up
www.youtube.com/watch?v=8FIDeOOL52Q&t=1s 
-Notes: pedigree charts, blood types, and genetic disorders.

HW=  Ch 8.3 all end of chapter questions
	-Packet wrap up
-Notes: types of reactions
-Pg 58-61:  writing and balancing equations

HW=  pg 58-61

	Tues  10/23
STUDY  BUDDIES!
	-Notes: pedigree charts, blood types, and genetic disorders.

HW= finish whole packet
-will be graded for completion
	Classwork (Garrison and Hannah lead)
15q at 6 pts each
-underline givens
-circle wanted
-show all work and units
-show all units of WHAT
-prove how units cancel out
-box in final answer
Will be graded for completion.

	STUDY   10/24 BUDDIES!


	-notes: biotechnology

-Genetic disorders vLab

HW= 3 family pedigrees with whatever trait/genetic disease you like.
	-Notes:  Acid/base reactions
-Ionic and net ionic equations

HW= 10 problems, 3 equations each

	Thurs  10/25

	10th graders to F/B..you are STILL responsible for HW!!
-CW/HW=3 pedigree charts and the 4 quiz questions below.

	STATIONS!
Actual test questions at each.

HW= stations are posted below

	Friday  10/26
	TEST
HW= read ch 10
https://cnx.org/contents/s8Hh0oOc@13.7:Pdu1uR8Y@6/Introduction 
	TEST
[bookmark: _GoBack]HW= research: % yield, limiting reactant and hydrates 





Monday 10.22.18-      https://evansccca.weebly.com/
	Remember to turn off cell phone and put in basket 

How is a Zygote different from a haploid cell? How are they similar?


	Remember to turn off cell phone and put in basket 

2 g Magnesium burns in air, what mass of magnesium oxide is produced?
https://www.youtube.com/watch?v=fErqU1mwRX0 





Pedigree analysis:  http://virtuallabs.stanford.edu/life/pedigree.swf
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Tuesday 10.23.18-     https://evansccca.weebly.com/
	Remember to turn off cell phone and put in basket 

What is an antigen?
What is an antibody?
https://www.youtube.com/watch?v=ttjn1jVACk8   Blood type



	Remember to turn off cell phone and put in basket 

10.0 grams of Zinc reacts with excess HCl.  What mass of Zinc chloride is produced?
What volume of hydrogen gas is produced?







[image: ]

Wednesday 10.24.18-     https://evansccca.weebly.com/
	Remember to turn off cell phone and put in basket 

What are pedigree charts and how do you use them?
https://www.youtube.com/watch?v=Gd09V2AkZv4 


	Remember to turn off cell phone and put in basket 

From Tuesday’s problem,
What volume of hydrogen gas is produced?




Thursday10.25.18-     https://evansccca.weebly.com/
	Remember to turn off cell phone and put in basket 

What causes sickle cell anemia?



	Remember to turn off cell phone and put in basket 

Write a net ionic equation for an acid and a base reacting.


[image: ]

Friday 10.26.18-     https://evansccca.weebly.com/
	Remember to turn off cell phone and put in basket 

What is disjunction?  Non-disjunction?

	Remember to turn off cell phone and put in basket 

A compound contains 2.4 g of Carbon and 0.8 g of hydrogen.  What is the mole ratio of elements?
What is the empirical formula?



ib.bioninja.com.au

Disjunction takes place twice meiosis, when the sister chromatids separate and move to the opposite poles. To compare this with non-disjunction is when this process of separation of chromatids (mitosis) and homologous chromosomes (meiosis) fails to occur.
[image: Image result for disjunction and nondisjunction]
BIOLOGY STUDY GUIDE!!
a) Explain mutations can occur in DNA sequencing?  (i.e. deletion, insertion…)
b) Sickle cell anemia is a genetic condition that occurs because of a single point mutation in the DNA gene for hemoglobin. How is this mutation expressed in humans?
c) What prevents thymine from pairing with guanine in DNA?
d) What prevents adenine from pairing with cytosine in DNA?
e) What happens during transcription?
f) How does meiosis explain the variety of genotypes in potential offspring?
g) How are each of these inherited? A. diabetes B. cystic fibrosis C. hemophilia D. albinism  (dominant/recessive/sex-linked/??)
h) Wat characteristic is present in offspring produced by sexual reproduction, but is missing in offspring produced by asexual reproduction?
i) How can drugs and chemical pollutants affect the expression of traits?
j) Why is Duchenne muscular dystrophy more common in males?
k) What is the probability a child will have type B blood if the mother is type AB and the father is type A?
l) What is the role of meiosis in reproduction?
m) If two parents both have AB blood type, what is the chance they will have a child with only O blood type?
n) DNA mutations caused by ultraviolet radiation are responsible for which conditions?
o) A tall pea plant (TT) is crossed with a short pea plant (tt). What is the probability that the offspring will be short?
p) What is incomplete dominance?
q) What is a roan cow?
r) What is disjunction?
s) What is nondisjunction?
t) What is heterozygous?
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Pedigree Analysis

A pedigree is a useful diagram to map the family tree—its relationships, sex and number of
siblings—and trace the history of how offspring have inherited certain genes, like genetic defects.
A pedigree analysis is useful in genetic counseling and gives insight into the mode of inheritance
of traits—how likely genes are transmitted and whether or not the phenotype is expressed. Note
that not all disorders are inherited, and a pedigree analysis can help determine whether the
disorder follows typical inheritance patterns. While genes are the basis of a potential trait, the
environment can also influence whether the phenotype is expressed.

In the diagram to the right, squares

represent males and circles represent :'l'fntgfr;zc{ggte
females. Shaded squares or circles show Unaffected Affected phenotype)

affected individuals (inheritance and
expression of a particular trait), and

Female Q . O

partially-shaded shapes indicate that the Male | V|
individual is a carrier of the trait, but may not Mating Q—
necessarily be affected. Horizontal lines
connecting males and females indicate Mating
g between Q>=

mating; vertical lines extending downward
from the couple indicate offspring.

relatives

Click on the Next button below to construct pedigrees and trace
the inheritance patterns of different types of genetic traits.
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Pedigree Analysis

Select the type of trait then drag one male and one female pedigree symbol to the set the parents of

the first generation. Then, select the number children and see how the trait propagates by dragging

the different mates to the following generations. Try several different combinations to see the trait
Type of Trait propagate with various genetic combinations.

@ Autosomal Dominant Generation 1 (parents)

Autosomal Recessive
Sex-Linked Recessive
Generation 2

Pedigree SymbOIS (max 4 children)

Male Female

Homozygous Unaffected

= @

Generation 3
(max 7 children)

Heterozygous Affected Generation 4
@ (max 18 children)
Homozygous Affected

An autosomal dominant pattern of inheritance means that a heterozygote is a carrier and
an affected individual, (i.e. one who will display the trait). Heterozygotes show the
abnormal trait.

Example: Familial hypercholesterolemia

Start again
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Quiz

1. When crossing two heterozygous individuals, which of the following distributions of offspring genotypes is correct?
a. 50% AA, 25% Aa, 25% aa
b. 25% AA, 50% Aa, 25% aa
c. 0% AA, 100% aa, 0% aa
d. 50% AA, 0% Aa, 50% aa
2. If a man affected by a sex-linked recessive trait has two children with a woman who neither shows the trait nor is a
carrier, which of the following is possible?
a. An affected male and unaffected (non-carrier) female.
b. A carrier female and affected male.
c. A carrier female and unaffected male.
d. An unaffected (non-carrier) female and unaffected male.

3. Why are males more likely than females to display sex-linked recessive affected phenotypes?
a. More sex-linked traits affect males than females.
b. The male Y chromosome is always dominant and causes alleles on the X chromosome to behave recessively.
c. Males do not have a second X chromosome with which to "mask" a recessive allele.
d. Only men carry Y chromosomes, which commonly carry recessive alleles.

4. How do autosomal traits differ from sex-linked traits?
a. Sex-linked traits are found only on the X chromosome, while autosomal traits are found on the other 22.
b. Autosomal traits affect both sexes equally, while sex-linked traits affect only males, though females can be carriers.
c. Autosomal traits affect most of the body, while sex-linked traits affect only sex characteristics.
d. Unlike autosomal traits, sex-linked traits can only be passed from father to son or mother to daughter.
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Complete Course
An immune response occurs when antibodies, which on Biology for
are proteins in your immune system, are summoned Bl%%[i] GROUP, :
to attack an antigen. When you say you are blood ANTIGENS AND | == | 33
type A, what you are telling people is that the cells in ANTIBODIES = e N I |
your body make antibodies only to type B antigens.

The A-type surface antigens on the cells are not
recognized.





image6.png
People who inherit two genes for sickle hemoglobin (one e
from each parent) have sickle cell disease. With a few

exceptions, a child can inherit sickle cell disease only if

both parents have one gene for sickle cellhemogiobin. Il @ M . cemmt
The most common situation in which this occurs is when = swerse 85
each parent has one sickle cell gene. May 5, 2002

How Do People Get Sickle Cell Disease?
sickle.bwh harvard.edu/scd_inheritance. html
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STATION #5

‘When 2.0 moles of CaCl, dissociate in aqueous solution, how many fons are
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STATION #10

The chemicalformula for glucose is CoH 0y, What s the percent mass
elucose?
(atomic masses: € = 12,01, 1 = 100, nd 0 = 15.99)
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